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317 |[Ext o}o e I EECER 13,000 | 1 1
318 |A2E HOolAM M E23|2 to|Ee}| &3 0]2lo]| 14,000 1 1
319 |EOlHX|o] HIGH: = st2tE} Ziof HFC}O{ 210] 9,500 | 1 1
320 |2 & ojoj7| Z I|EZ] 20|A |AIAE 21,000 [ 1 1
321 [glojH{el g2 27t E7l2 3 |A AR 18000 [ 1 1
322 |dojHzEl A= 27t E7IEFT [AAE 18,000 | 1 1
323 |Stefol ME =0 EE2ETA 12,000 | 1 1
324 |BERIC} ges EIEM 11,000-| 1 1
325 |t neko|7t dojel CiH = Za EER 12,000 [ 1 1
326 |& I, T oof W oo 4gd 21M17| 52~ 22,000 [ 1 1
327 |F0ls Mg SYSMH His=s 12,500 | 1 1
328 |[E&0 23 420 27 Ny RLh 15,800 | 1 1
329 |2|H 20| Cpataud IR 13,500 | 1 1
330 [Azad ol - HY 0t 11,000 [ 1 1
331 750 L 20|~ MA 14000 | 1 1
332 |A]E BfAet gjoje ZEz2 §H1 E AE|E2 11,000 | 1 1
333 |ASot, £Y SO AL LIEfZ= HEes 18,000 | 1 1
334 [Op20] 4% 7|eLC| LEfZ= grofjo|x| 22| of 14,000 | 1 1
335 |ZOfStCn SHC|L| O|Qr3ICtT Zaict aetE 2+0| A D) 0| 11,200 | 1 1
336 |42 el Hs MH +lojol - a2 A 12,000 1 1
337 [Oj&H# g SEYY 479K T2 oz 18,000 | 1 1
338 |AMle B ZHy| E2EZ7]  [EYolseA 16,500 1 1
339 |Lte| = M2 nEgstm AP 2387 Mats 18,000 | 1 1




340 |40 A e = Wil 2147182 16,000 | 1 1
341 |ZEEo 252 W3 Y = raR-E-| YA 16,800 | 1 1
342 |YH=E EXtg|7| HEfE shelojclof 18,000 1 1
343 |2lH3 B Cjh=T 17,000 | 1 1
344 L= Apde oA O33g Mot k| A8~ 16,000 | 1 1
345 |4718 =M 100 F40t1 8 HA 22,000 1 1
346 [1ALQt S 23 MGPT 2t 70| =3d AziE5A 18,000 | 1 1
347 |HIFESAE O[8]E & Qe Al X|A) Hhat diL 19,800 1 1
348 |MGPT &Y H7{ B e 22,000 | 1 1
349 [MGPT 22 AR DiL HEs SHelH|= 19,800 | 1 1
350 |CHFOIR NS EHCS 2023 BREMN=2023 LY || SL|E| 28,000 1 1
351 |MGPTRI 2M7| A™- - {7182 18,000 | 1 1
352 |2M7|E B BEEEEH 0|28 | 17,000 | 1 1
353 |OPA|E{Q] S47| o] o| oho| AT 15000 | 1- 1
354 |BEER LT E FoMe| 2aT| LI2d} EMET HE 14,000 | 1 1
355 |EHEZ Hj2CH 10THE 3t 27| EZL 2ES At 16,800 | 1 1
356 | OFO|OIA | Jt2X| 1 M2 147}K| 247] H]Y s L nie=y 20,000 | 1 1
357 |[MAHES B A A 24T Qref ! ofoj~3 & ojC|of 16,000 | 1 1
358 |42 7|7t El& A7) 27 20j|E AL 13,800 | 1 1
359 |ojU=E|E® 123 ojop7[stct - of B 7HX] Mo g Méh= 7|0Hs 24 o Ao] 7|0 420|C|O|2HIX 13,800 1 1
360 |Cf Z17t0] LiD|H[o} - Qi4do| Atatg AL Mol [ aroflo| x| 32| of 13,000 | 1 1
361 |CHEFDIS 2449 ALEl o X| Lol Az 20,000 1 1
362 (2024 LBHA FMSEI|AR T SA 2o+ 22EY  [Mas HHESA 27,000 | 1 1
363 [2023 PEEGHO0| Ak win-Q BUSEIIAREI|SA B |24 AL DA 7|2 25000 | 1 1
364 2023 RFEEYHN0] Q= win-Q BAUSEIAFLI|SA M7 [Holx ACH3LA|Z] % 25,000 1 1
365 |74 QUMIE-3D/2D M7 BHEM HALR Off 2 A 28,000 | 1 1
366 |Z85| OIAES| CATIA V5-3D 47| =238 OFAH |0 2AF 24,000 1 1
367 |HUSEIIANE M7 SR ERE FHAHE Of & At 28,000 [ 1 1
368 |7|A| Auto CAD - 2D EEAM HAHE G| 2 AL 22,000 | 1 1
369 |AutoCAD LEHO|F| 560 He7|®, g |2 24000 [ 1 1
370 | MYO|E (DAL LA 55te| 24 AR B3 RHE, Bae) | Q12 ARK 25,000 1 1
371 |t #HoR & Yool #r) 0j& mesn g2 8 se ey |OF2 L0 SA 18,000 | 1 1
372 |[MO|lE O/& 0[of7| 8 Ko S~oHn|Cjof 75000 | 1 1
373 |O|&a0 742] ol o1 v, 7te wREar, xpees | 0| B2 28,000 1 1
374 |HMMESEIAMZI|SA T OlZAl O|FY |AFIAL 24,000 1 1
375 |[SaA AMA W IfL|Ct o8 = 18,000 | 1 1
376 |Le BFE LU= AMQILCH 4|9 EEETE 13,800 | 1 1
377 |BMUULSAE ZHRISICE O|HX| =E1SES 16,000 | 1 1
378 [799] 7| &, A 2tS AL H|0[H|E 0]0f7] |3 QIZEALR 19,000 | 1 1
379 |ZtSALORS 7] SR Aot 18,000 | 1 1
380 |ZtSALIE E|7|2 3Ct il 913 AlCHo| & 16,000 | 1 1
381 |42 S{ATte| Wut7|4 WA E500 gt ZtCel 49,000 | 1 1
382 |HQLLE HE(1-10) 3{get P=HESl A 99,000 1 10
383 |20 El= A& &2 4565 Hdeo x| A A 2 48,500 1 1
= Bt H 6,979,800 383 449




